LOS ANGELES AREA	CERTI	FICATE O	FORIC	CIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, GO VERIFY.FTGS.	TO Certificate Number : L US Date : Ju	A-COO-604 ne 05, 2025	89-6841ff7981909
Seller (Exporter) SPRINTRAY, INC. 2710 Media Center Drive	Transport Type Air		Port of Loading Los Angeles (I	
Los Angeles CA USA	Destination Coun Germany	try	Destination Por Frankfurt Airpo	
Consignee SprintRay Europe GmbH	Export Date 2025-05-22		Exporting Carri Lufthansa Airli	
Brunnenweg 11 64331 Weiterstadt Germany	Import Permit Nu	imber	Bill of Lading / 020-00581136	
	Owner or Agent		Forwarding Age Cargo Module	
Buyer (Importer) SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany	SO351647 / EO2 SO353820 / EO2	24000113 - SO351360 / E0 25000008 - SO353819 / E0 25000034 - SO353823 / E0 25000038 - SO353825 / E0 25000097	D25000033 - D25000037 -	
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)		Weight	Country of Origin
[SRI-0202056] SprintRay Ceramic Crown - Bleach - 250g H.S.Code: 3906.90 Marks: 16 bottles at 250g net [SRI-0202057] SprintRay Ceramic Crown - A1 - 250g H.S.Code: 3906.90 Marks: 30 bottles at 250g net [SRI-0202058] SprintRay Ceramic Crown - B1 - 250g H.S.Code: 3906.90 Marks: 30 bottles at 250g net		Ne 9.9	kgs t: 4.0 kgs kgs t: 7.5 kgs	United States United States
[SRI-0202058] SprintRay Ceramic Crown - B1 - 250g H.S.Code: 3906.90 Marks: 30 bottles at 250g net	AMERC	9.9	kgs t: 7.5 kgs	United States
[SRI-0202086] SprintRay Ceramic Crown - A2 - 250g	RIGIN	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	4 kgs t: 20 kgs	United States
[SRI-0202087] SprintRay Ceramic Crown - A3 - 250g ber US H.S.Code: 3906.90 Marks: 120 bottles at 250g net			6 kgs t: 30 kgs	United States
[SRI-0202123] SprintRay OnX Tough 2 - A1 - 500g H.S.Code: 3906.90 Marks: 200 bottles at 500g net	1 CR) kgs t: 100 kgs	United States
[SRI-0202124] SprintRay OnX Tough 2 - A2 - 500g H.S.Code: 3906.90 Marks: 319 bottles at 500g net		X X X X X X X X X	7.5 kgs t: 159.5 kgs	United States
	DF ORIGIN Neber US2100201 US2100201 ALAN ALAN	any inaccuracy, omission or change in e Applicant will maintain, and present th, accuracy and completeness of this consideration for the LAACC's issuanc	the country(ies) specified see goods. any documents provided in d complete. CC and any other person(s orovided to with the knowl such information, or in the upon request, such docum certificate and accompan e of this Certificate, the A connection with the issue ims made against LAACC	d above and comply with the rules of to the Los Angeles Area Chamber of to the hos Angeles Area Chamber of to whom the applicant provides this edge of the Applicant) promptly in writing e origin of goods. nentation as is necessary to verify the ying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.

USA

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTIFICATE	OF ORIC	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number VERIFY.FTGS.US Date	: LA-COO-604 : June 05, 2025	89-6841ff7981909	
Seller (Exporter) SPRINTRAY, INC. 2710 Media Center Drive	Transport Type Air	Port of Loadin Los Angeles		
Los Angeles CA USA	Destination Country Germany	Destination Po Frankfurt Airp		
Consignee SprintRay Europe GmbH	Export Date 2025-05-22	Exporting Carr Lufthansa Air	lines	
Brunnenweg 11 64331 Weiterstadt Germany	Import Permit Number	Bill of Lading / 020-0058113		
	Owner or Agent	Forwarding Ag Cargo Module		
Buyer (Importer) SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany	Remarks SO345511 / EO24000113 - SO351360 / EO25000004 - SO351647 / EO25000008 - SO353819 / EO25000033 - SO353820 / EO25000034 - SO353823 / EO25000037 - SO353824 / EO25000038 - SO353825 / EO25000039 - SO360956 / EO25000097			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)	Weight	Country of Origin	
[SRI-0202125] SprintRay OnX Tough 2 - Bleach - 500g		42.5 kgs	United States	
H.S.Code: 3906.90 Marks: 65 bottles at 500g net		Net: 32.5 kgs		
[SRI-0202126] SprintRay OnX Tough 2 - B1 - 500g	c.	88.5 kgs	United States	
H.S.Code: 3906.90 Marks: 136 bottles at 500g net	12	Net: 68 kgs		
 [SRI-0202125] SprintRay OnX Tough 2 - Bleach - 500g H.S.Code: 3906.90 Marks: 65 bottles at 500g net [SRI-0202126] SprintRay OnX Tough 2 - B1 - 500g H.S.Code: 3906.90 Marks: 136 bottles at 500g net [SRI-0202164] SprintRay OnX Tough 2 - Hollywood White- 500g H.S.Code: 3906.90 Marks: 77 bottles at 500g net 		50.0 kgs	United States	
		Net: 38.5 kgs		
[SRI-0204010] SprintRay Ceramic Crown - A1 - Single-unit Capsule H.S.Code: 3906.90 Marks: 332 (3-pack) Capsules	e 3-Pack	110.0 kgs Net: 83.0 kgs	United States	
	RIGIN			
[SRI-0204011] SprintRay Ceramic Crown - A2 - Single-unit Capsul H.S.Code: 3906.90 Marks: 244 (3-pack) Capsules	ез-раск	80.5 kgs Net: 61.0 kgs	United States	
[SRI-0204012] SprintRay Ceramic Crown - B1 - Single-unit Capsul	e 3-Pack	80.0 kgs	United States	
H.S.Code: 3906.90 Marks: 242 (3-pack) Capsules		Net: 60.5 kgs		
[SRI-0204013] SprintRay Ceramic Crown - BL - Single-unit Capsul	e 3-Pack	36.3 kgs	United States	
H.S.Code: 3906.90 Marks: 110 (3-pack) Capsules		Net: 27.5 kgs		
Name of Authorized Trade Association	 The above-mentioned goods origin applicable in the country(iee origin applicable in the country(iee origin applicable in the country(iee origin applicable in the certificate (Commerce ("LAACC") is accurate, -The Applicant undertakes to advise or origin applicable or own on the Certificate (or to whom the Certificate (or the Cer	inate in the country(ies) specific s) to those goods. and in any documents provided true and complete. se LAACC and any other person (ate is provided to with the know inge in such information, or in th resent upon request, such docu of this certificate and accompa ssuance of this Certificate, the bility in connection with the issu (/or claims made against LAACC	Imentation as is necessary to verify the Innying documents. Applicant agrees to release, discharge and Juance of this certificate and to indemnify C in connection herewith.	

USA

Authorized Signature Farhad Ghorbani Fard

-

LOS ANGELES AREA	CERTIFICATE	OF ORIC	GIN ORIGINAL
Solution Chamber of Commerce	TO VALIDATE, GO TO Certificate Numbe	r: LA-COO-604 ^{e:} June 05, 2025	89-6841ff7981909
Seller (Exporter) SPRINTRAY, INC. 2710 Media Center Drive	Transport Type Air	Port of Loading Los Angeles (
Los Angeles CA USA	Destination Country Germany	Destination Po Frankfurt Airpo	
Consignee SprintRay Europe GmbH	Export Date 2025-05-22	Exporting Carri Lufthansa Airl	
Brunnenweg 11 64331 Weiterstadt Germany	Import Permit Number ************	Bill of Lading / 020-00581136	
Comany	Owner or Agent ******	Forwarding Age Cargo Module	
Buyer (Importer) SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany	Remarks SO345511 / EO24000113 - SO35136 SO351647 / EO25000008 - SO35381 SO353820 / EO25000034 - SO35382 SO353824 / EO25000038 - SO35382 SO360956 / EO25000097		
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Packages.)	Weight	Country of Origin
[SRI-0204014] SprintRay Ceramic Crown - A3 - Single-unit Capsu H.S.Code: 3906.90 Marks: 100 (3-pack) Capsules end of products CERTIFICATE OF O Accredited Chamber	Comment Rigin S2100201	33.0 kgs Net: 25.0 kgs ======	United States
Accredited Cha	The Applicant (or the Applicant or - The above-mentioned goods origin origin applicable in the country(lie - The information in this certificat Commerce ("LAACC") is accurate, - The Applicant undertakes to adv Certificate (or to whom the Certifi of any inaccuracy, omission or ch - The Applicant will maintain, and truth, accuracy and completeness: - In consideration for the LAACC's	jinate in the country(ies) specifie s) to those goods. s and in any documents provided true and complete. ise LAACC and any other person(cate is provided to with the know ange in such information, or in th present upon request, such docur s of this certificate and accompar issuance of this Certificate, the A ability in connection with the issu d/or claims made against LAACC	nentation as is necessary to verify the nying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.
Authorized Signature Farhad Ghorbani Fard			

THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

Date:

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Commercial Invoice # SO345511 (4)

Customer PO#: Salesperson: Incoterms: EO24000113 EXW UOM Description HTS coo Quantity **Unit Price** Amount [SRI-0202057] SprintRay Ceramic Crown – A1 – 250g 3906.90.5000 USA PCS 30 \$46.50 \$1,395.00 [SRI-0202123] SprintRay OnX Tough 2 - A1 - 500g 3906.90.5000 USA PCS 150 \$80.10 \$12,015.00 [SRI-0202087] SprintRay Ceramic Crown – A3 – 250g 3906.90.5000 USA PCS 13 \$46.50 \$604.50 [SRI-0202086] SprintRay Ceramic Crown – A2 – 250g 3906.90.5000 USA PCS 80 \$46.50 \$3,720.00 [SRI-0202056] SprintRay Ceramic Crown – Bleach – 250g 3906.90.5000 USA PCS 16 \$46.50 \$744.00

Total

Tel: 800-914-8004 Web: http://www.sprintray.com TIN: 81-5348541

> SprintRay Inc CHAIN DEPARTM



ſ 202 LA-C00-60489-6841ff7981909/June 05,

Subtotal \$18,478.50

\$18,478.50

19-May-25

THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Commercial Invoice # SO351360 (2)

Customer PO#: Salesperson: Incoterms: E025000004 EXW UOM Description HTS coo Quantity **Unit Price** Amount [SRI-0202126] SprintRay OnX Tough 2 - B1 - 500g 3906.90.5000 USA PCS 100 \$80.10 \$8,010.00 [SRI-0202125] SprintRay OnX Tough 2 - Bleach - 500g 3906.90.5000 USA PCS 65 \$80.10 \$5,206.50 [SRI-0202164] SprintRay OnX Tough 2 - Hollywood White- 500g 3906.90.5000 USA PCS 10 \$80.10 \$801.00

Tel: 800-914-8004 Web: http://www.sprintray.com

w.sprintray.com TIN: 81-5348541

SprintRay Inc

\$14,017.50

\$14,017.50

2710 Media





Date: 19-May-25

Subtotal

Total

THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

Date:

19-May-25

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Commercial Invoice # SO351647 (3)

Customer PO#: Salesperson: Incoterms: E02500008 EXW UOM Description HTS coo Quantity **Unit Price** Amount [SRI-0202058] SprintRay Ceramic Crown - B1 - 250g 3906.90.5000 USA PCS 30 \$46.50 \$1,395.00 [SRI-0202087] SprintRay Ceramic Crown – A3 – 250g 3906.90.5000 USA PCS 20 \$46.50 \$930.00

Subtotal	\$2,325.00
Total	\$2,325.00

Tel: 800-914-8004 Web: http://www.sprintray.com TIN: 81-5348541





LA-C00-60489-6841ff7981909/June 05, 2025

THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Date: 19-May-25

Commercial Invoice # SO353819 (2)

Customer PO#:	Salesperson:				Incoterms:	
EO250000333					EXW	
Description	HTS	соо	UOM	Quantity	Unit Price	Amount
[SRI-0204011] SprintRay Ceramic Crown - A2 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	235	\$29.74	\$6,988.90

Subtotal	\$6,988.90
Total	\$6,988.90

90

Tel: 800-914-8004 Web: http://www.sprintray.com TIN: 81-5348541





THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Date: 19-May-25

Commercial Invoice # SO353820

Customer PO#: EO25000034	Salesperson:				Incoterms: EXW	
Description	HTS	COO	UOM	Quantity	Unit Price	Amount
[SRI-0202123] SprintRay OnX Tough 2 - A1 - 500g	3906.90.5000	USA	PCS	50	\$81.10	\$4,055.00
[SRI-0202124] SprintRay OnX Tough 2 - A2 - 500g	3906.90.5000	USA	PCS	319	\$81.10	\$25,870.90
[SRI-0202126] SprintRay OnX Tough 2 - B1 - 500g	3906.90.5000	USA	PCS	36	\$81.10	\$2,919.60
[SRI-0202164] SprintRay OnX Tough 2 - Hollywood White- 500g	3906.90.5000	USA	PCS	67	\$81.10	\$5,433.70

Subtotal	\$38,279.20
Total	\$38,279.20

Tel: 800-914-8004 Web: http://www.sprintray.com TIN: 8







THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Date: 19-May-25

Commercial Invoice # SO353823

Customer PO#:	Salesperson:	7188-800 () 100-00 () 100-00 () 100-00			Incoterms:	
E025000037					EXW	
Description	HTS	CO0	UOM	Quantity	Unit Price	Amount
[SRI-0202087] SprintRay Ceramic Crown – A3 – 250g	3906.90.5000	USA	PCS	87	\$46.50	\$4,045.50

Subtotal	\$4,045.50
Total	\$4,045.50

Tel: 800-914-8004 Web: http://www.sprintray.com TIN: 81-5348541





THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Commercial Invoice # SO353824

Customer PO#: E025000038	Salesperson:				Incoterms: EXW	
Description	HTS	соо	UOM	Quantity	Unit Price	Amount
[SRI-0204010] SprintRay Ceramic Crown - A1 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	320	\$29.74	\$9,516.80
[SRI-0204011] SprintRay Ceramic Crown - A2 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	9	\$29.74	\$267.66
[SRI-0204012] SprintRay Ceramic Crown - B1 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	242	\$29.74	\$7,197.08
[SRI-0204013] SprintRay Ceramic Crown - BL - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	110	\$29.74	\$3,271.40

\$20,252.94
\$20,252.94

Tel: 800-914-8004 We

Web: http://www.sprintray.com TIN

TIN: 81-5348541





Date: 19-May-25

THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Date: 19-May-25

Commercial Invoice # SO353825

Customer PO#: E025000039	Sursperson.			Incoterms: EXW			
Description	HTS	C00	UOM	Quantity	Unit Price	Amount	
[SRI-0204010] SprintRay Ceramic Crown - A1 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	12	\$29.74	\$356.88	

Subtotal	\$356.88
Total	\$356.88

Tel: 800-914-8004

Web: http://www.sprintray.com TIN: 81-5348541





THE NEXT 100 YEARS OF DENTISTRY

SprintRay Inc. 2710 Media Center Dr, Suite 100A Los Angeles CA 90065 United States

SprintRay Europe GmbH Brunnenweg 11 64331 Weiterstadt Germany Phone: + 49 151 56189883 Info.eu@sprintray.com

Date: 19-May-25

Commercial Invoice # SO360956

stomer PO#: Salesperson: 25000097				Incoterms: EXW			
Description	HTS	соо	UOM	Quantity	Unit Price	Amount	
[SRI-0204014] SprintRay Ceramic Crown - A3 - Single-unit Capsule 3-Pack	3906.90.5000	USA	PCS	100	\$29.74	\$2,974.00	

Subtotal	\$2,974.00
Total	\$2,974.00

Tel: 800-914-8004 Web: http://www.sprintray.c

Web: http://www.sprintray.com TIN: 81-5348541



